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+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR �� *DVSDU�9D] $21 9HUPHOKR �� *RQoDOR�0D\D &63
%UDQFR �� %HUQDUGR�&RUUHLD &1) %UDQFR �� KHQULTXH�SRXFRFKLQKR
$PDUHOR �� 3HGUR�&DODGR &5&4/ $PDUHOR �� 5LFDUGR�DXJXVWR
3UHWR �� 3UHWR �� 7RPiV�%DUUHLUR 16*

521'$��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � *XVWDYR�0DWRV 6LQHV6& 9HUPHOKR � *RQoDOR�0DJDOKmHV $21
%UDQFR �� /RXUHQoR�)DULD &1) %UDQFR �� 5XL�&UX] 336&
$PDUHOR �� /RXUHQoR�1XQHV 6&3 $PDUHOR �� 1XQR�3HUHLUD 6&&6
3UHWR �� )LOLSH�&UX] $21 3UHWR ���W

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 'LRJR�6DPSDLR 16)/ 9HUPHOKR � *XLOKHUPH�5LEHLUR &6&
%UDQFR �� 'DQLHO�*RPHV 6&3 %UDQFR �� 0LJXHO�0DWRV &6&
$PDUHOR �� 0LNH�&RQODQ &%$9$/ $PDUHOR �� $IRQVR�5HFWR &5&4/
3UHWR �� $QWyQLR�&DOGHLUD &6& 3UHWR ���W

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � '\ODQ�*URHQ 16* 9HUPHOKR � 0DUFHOR�0DUWLQV $21
%UDQFR �� 3HGUR�&RUUHLD 336& %UDQFR � )UDQFLVFR�5LEHLUR &6&
$PDUHOR �� 3HGUR��%DUURV &5&4/ $PDUHOR �� 'LRJR�5DSRVR &5&4/
3UHWR ���W 3UHWR �� 3HWHU�+HDOLRQ &$)%3'

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � -RmR�9LGDO 6&&6 9HUPHOKR � 6DOYDGRU�&RXWR $21
%UDQFR �� 7RPiV�)UHLUH $21 %UDQFR �� -RVp�&KDPSDOLPDXG 6&&6
$PDUHOR �� 'LHJR�$OYHV (6& $PDUHOR �� $QGUHV�0HOHQGH] (6&
3UHWR ���W 3UHWR �� 'LRJR�0RQWHLUR &63
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3UHWR ��� 3UHWR ���
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+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 7RPiV�/DFHUGD &1) 9HUPHOKR � -RmR�9LGDO 6&&6
%UDQFR �� $IRQVR�&DQGHLDV 16)/ %UDQFR �� &DUROLQD�6DQWRV 336&
$PDUHOR �� )UDQFLVFR�3HUHLUD 6&&6 $PDUHOR �� $IRQVR�%DVWR &6&
3UHWR �� *XLOKHUPH�&DVWUR 16* 3UHWR ��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 0DUWLP�9DQ�=HOOHU 6&&6 9HUPHOKR � $IRQVR�$QWXQHV &6&
%UDQFR �� -RVp�%UXVFK\ &63 %UDQFR �� -RDTXLP�&KDYHV 6&&6
$PDUHOR �� -RmR�0HQGRQoD 3706& $PDUHOR �� 0DUWLP�3DXOLQR &6&
3UHWR �� )UDQFLVFR�%RQDJXUD 16* 3UHWR ��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � *XLOKHUPH�5LEHLUR &6& 9HUPHOKR � 5RGULJR�/HEUH 6&3
%UDQFR �� 7LDJR�%HWWHQFRXUW *'6& %UDQFR � -RVp�5LEHLUR 6&&6
$PDUHOR �� *DEULHO�5LEHLUR (6& $PDUHOR �� 6DOYDGRU�&DOLoR 16*
3UHWR �� 3UHWR �� *RQoDOR�0RWD 16)/

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � -RmR�*DUFLD 6&&6 9HUPHOKR � 0DQXHO�7HL[HLUD 6&&6
%UDQFR �� )UDQFLVFD�9HVHONR 6&&6 %UDQFR �� 7LDJR�9D] $21
$PDUHOR �� 0DUWLP�)HUUHLUD &6& $PDUHOR �� 'LRJR�/RSHV &6&
3UHWR �� 3UHWR �� 0DUWLP�1XQHV &5&4/
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9HUPHOKR � ,QrV�%LVSR $6&& 9HUPHOKR � 0DULDQD�$VVLV 6&&6
%UDQFR � &DPLOD�&RVWD 336& %UDQFR � ,QrV�3DVFRDO &%$9$/
$PDUHOR �� 5LWD�-RUJH 336& $PDUHOR �� &DUORWD�5HLV &1)
3UHWR �� 3UHWR ��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 0DULDQD�*DUFLD 6&&6 9HUPHOKR � 5LWD�%ULWR 16)/
%UDQFR � %HDWUL]�6DQWRV &6& %UDQFR � &DPLOOD�.HPS 16*
$PDUHOR � <RODQGD�6HTXHLUD &1370 $PDUHOR �� 7kQLD�2OLYHLUD &$)%3'
3UHWR �� 3UHWR ��
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+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � )UHGHULFR�0DJDOKmHV &1370 9HUPHOKR � -RmR�$QGUp $21
%UDQFR �� )UDQFLVFR�6DQWRV (6& %UDQFR �� $QWyQLR�&DUYDOKR &5&4/
$PDUHOR �� %UXQR�%LOUR (6& $PDUHOR �� 3HGUR�5XD (6&
3UHWR �� 7RPiV�&RXWR 1$' 3UHWR ��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � )UDQFLVFR�'XDUWH &1370 9HUPHOKR � )UDQFLVFR�5HLV 6&&6
%UDQFR �� $QWyQLR�'XDUWH 6LQHV6& %UDQFR �� /RXUHQoR�)HOLFLDQR 336&
$PDUHOR �� 'LRJR�0HQGHV &5&4/ $PDUHOR �� *RQoDOR�*UDoD 16*
3UHWR �� 7RPiV�)DULQKD 336& 3UHWR ��

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � *XLOKHUPH��)RQVHFD 336& 9HUPHOKR � 7RPiV�)HUUHLUD $21
%UDQFR �� 5XEHQ�9LWD $21 %UDQFR � +HQULTXH�3\UUDLW (6&
$PDUHOR �� &DPLOOD�.HPS 16* $PDUHOR �� /XFDV�7RUUH &%$9$/
3UHWR �� 3UHWR �� -DNRE�0DXULFH &6)

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � /RXUHQoR�$OYHV &6& 9HUPHOKR � 9DVFR�0yQLFD 16)/
%UDQFR �� )UDQFLVFR�&DUUDVFR (6& %UDQFR �� -RmR�3XSR *'6&
$PDUHOR �� -RmR�0DOy 6&3 $PDUHOR �� -RVp�0RQWH] &1370
3UHWR �� 3UHWR ��
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+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR �� 9DVFR�1LFRODX 16)/ 9HUPHOKR �� 6DPXHO�3DOPHULR 336&
%UDQFR �� )UDQFLVFR�:HLQKROW] &1370 %UDQFR �� -RmR�)HUULV
$PDUHOR �� 9DVFR�9HORVR 16)/ $PDUHOR �� 0DQXHO�6DQWRV &5&4/
3UHWR �� $QWyQLR�)UHLUH &5&4/ 3UHWR �� 7RPiV�%DUUHLUR 16*
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+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 7LDJR�6DQWRV (6& 9HUPHOKR � -iFRPH�&RUUHLD &13'
%UDQFR �� $QWyQLR�5RGULJXHV $21 %UDQFR �� 7RPiV�3HUHLUD 6&&6
$PDUHOR �� 0DQXHO�6DPSDLR 16)/ $PDUHOR �� *DVSDU�7HL[HLUD &6&
3UHWR �� *RQoDOR�%DSWLVWD 16* 3UHWR ���W

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 'XDUWH�%DOWD]DU 336& 9HUPHOKR � )UDQFLVFR�$OPHLGD 6&&6
%UDQFR �� )UDQFLVFR�6LP}HV $6)) %UDQFR �� 'LRJR�5RTXH &6&
$PDUHOR �� $QWyQLR�*RXYHLD &63 $PDUHOR �� )UDQFLVFR�2UQHODV &1)
3UHWR �� 5DXO�/LTXLWR &63 3UHWR ���W

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � /XLV�3HUORLUR *'6& 9HUPHOKR � 9DVFR�'LQL] &6&
%UDQFR �� $QWRQLR�6LP}HV 6&&6 %UDQFR � 6LPmR�3HQKD *'6&
$PDUHOR �� 3HGUR�&DUGRVR (6& $PDUHOR �� $QWyQLR�6LOYHLUD $6&
3UHWR ���W 3UHWR �� $IRQVR�0DJUR *'6&

+HDW�� 1RPH &OXEH 3 +HDW�� 1RPH &OXEH 3
9HUPHOKR � 9DVFR�0yQLFD 16)/ 9HUPHOKR � -RmR�0RUHLUD &5&4/
%UDQFR �� 7RPiV�5LEHLUR &6& %UDQFR �� *RQoDOR�/LPD &6&
$PDUHOR �� $UUDQ�6WURQJ 16* $PDUHOR �� 6LPmR�7HL[HLUD &6&
3UHWR ���W 3UHWR �� $QWyQLR�&KDPSDOLPDXG 6&&6
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